
9

CReSS

CReSS

CReSS

compile.conf user.conf 2
2

user.conf

Fortran
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9.1

9.1.1

CReSS Fortran 2

• CReSS

“=” 1

• solver

9.1.2

& sysdep

wlngth integer ∗ 4
4

& dmiset

xpedim,ypedim integer ∗ 4
x, y x × y

xdim,ydim integer ∗ 4
x, y Arakawa C

1

(xdim− 3)/ xpedim = integer

(ydim− 3)/ ypedim = integer

zdim integer ∗ 4
z Arakawa C

1
cphopt ≥ 2 zdim ≥ 12 sfcopt ≥ 1 zdim ≥ 10
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& expname

solver, gridata, terrain

exprim character ∗ 80
80

exprim.sounding.txt

& project

solver, gridata, terrain

mpopt integer ∗ 4
x, y 4

1:
2:
3:
4:

nspol integer ∗ 4

1:
-1:

tlat1,tlat2 real ∗ 4
◦

2
tlat2

tlon real ∗ 4
y

mpopt = 4
◦
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& gridset

solver, gridata, terrain

dx,dy,dz real ∗ 4
x, y, z m dz

sthopt = 1,2

ulat,ulon real ∗ 4
1 ◦

riu,rju

riu,rju real ∗ 4
ulat,ulon

& gridsth

solver, gridata

zsfc real ∗ 4
m 0.0 m

zflat real ∗ 4
m

sthopt integer ∗ 4

0:
1: 3
2: tanh

dzmin real ∗ 4
dz m

dz

layer1,layer2 real ∗ 4
layer1 dzmin layer1

layer2 sthopt layer2

layer2 m
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& terrain

solver, gridata

trnopt integer ∗ 4

0:
1:
2:

mnthgh real ∗ 4
trnopt = 1 m

mntwx,mntwy real ∗ 4
trnopt = 1 x, y

m

mntcx,mntcy real ∗ 4
trnopt = 1 x, y m

i,j

x = (i− 2) × dx

y = (j− 2) × dy

& flength

solver, gridata ∗

sfcast∗ character ∗ 16
UTC

sfcast = ’yyyy/mm/dd hh:mm’ 2000 9 22 13 00
sfcast = ’2000/09/22 13:00’

stime real ∗ 4
s sfcast

0.0 s 3600.0 s
3600.0 s

etime real ∗ 4
s sfcast

3600.0 s 1800.0 s
5400.0 s
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& gpvpram

solver, gridata

∗

gpvvar∗ character ∗ 80
80

7

z

gpvvar = ’ooxoxxx’

o:
x:

gpvitv∗ real ∗ 4
s

nggopt∗ integer ∗ 4

0:
1:

nggvar character ∗ 80
80 11

nggvar = ’oooooxxxxxx’

gpvvar

o:
x:

nggcoe real ∗ 4

nggdlt real ∗ 4
s dtb

dtb

nggend real ∗ 4
s
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exbopt∗ integer ∗ 4

0:
1:
2:
11: 1
12: 2

exbvar character ∗ 80
nggvar

exbcoe real ∗ 4

corspn∗ integer ∗ 4

lspopt∗ integer ∗ 4

0:
1:
2:

lspvar character ∗ 80
nggvar

o,x ’-’

lspcoe real ∗ 4

lspspn integer ∗ 4

vspopt∗ integer ∗ 4

0:
1:
2:

vspvar character ∗ 80
nggvar
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vspcoe real ∗ 4

zsplow real ∗ 4
m

& boundry

solver, gridata ∗

wbc∗,ebc∗, integer ∗ 4
sbc∗,nbc∗

1:
2:
3: 0
4:
5:
6:
7:

bbc,tbc integer ∗ 4
impopt = 1

bbc =2, tbc = 2

2:
3: 0

lbccoe real ∗ 4

& radpram

solver, radata

∗

radvar∗ character ∗ 80
80

4

radvar = ’ooxx’

o:
x:
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raditv∗ real ∗ 4
s

ngropt∗ integer ∗ 4

0:
1: radata

2:

ngrvar character ∗ 80
80 6

ngrvar = ’ooxooo’ radvar

o:
x:

ngrcoe real ∗ 4

ngrdlt real ∗ 4
s dtb

dtb

ngrstr real ∗ 4
s

ngrend real ∗ 4
s

ngraff real ∗ 4

s

& sfcphys

solver, surface ∗

sfcopt integer ∗ 4

0:
1:
2:
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levpbl integer ∗ 4
dz 1 ≤ levpbl ≤ zdim - 2

levgrd integer ∗ 4

dzgrd real ∗ 4
m levgrd×dzgrd

ctgr real ∗ 4

K

prvres character ∗ 80

sfcdat∗ character ∗ 80
80 2

sfcdat = ’ox’

o:
x:

cbeta real ∗ 4

calbe real ∗ 4

cz0m real ∗ 4
m

csst real ∗ 4
K
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& initype

solver

iniopt integer ∗ 4

1:
2:
3: 3

snddim integer ∗ 4
iniopt = 1

sndhed integer ∗ 4
iniopt = 1

sndtyp character ∗ 80
iniopt = 1

80 3

ppk: 1 Pa 2 K 5 kg kg−1

zpk: 1 m 2 K 5 kg kg−1

ptk: 1 Pa 2 K 5 kg kg−1

ztk: 1 m 2 K 5 kg kg−1

ppp: 1 Pa 2 K 5 %
zpp: 1 m 2 K 5 %
ptp: 1 Pa 2 K 5 %
ztp: 1 m 2 K 5 %

zsnd0,psnd0 real ∗ 4
m

Pa sndtyp(1:1) = ’p’ zsnd0 sndtyp(1:1) = ’z’

psnd0

masopt integer ∗ 4

0:
1:

alpha1,alpha2 real ∗ 4
masopt = 1
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& gridmove

solver

movopt integer ∗ 4
trnopt = 0, iniopt = 1, exbopt = 0

0:
1:

umove,vmove real ∗ 4
m s−1

& ptinicon

solver

pt0opt integer ∗ 4
iniopt = 1

0:
1: x

2: y

3: x

4: y

5: 2

pt0num integer ∗ 4
pt0opt = 1 2

ptp0 real ∗ 4
K

pt0rx,pt0ry, real ∗ 4
pt0rz pt0opt = 5 z

m

pt0cx,pt0cy, real ∗ 4
pt0cz x, y, z pt0opt = 5

z m

pt0ds real ∗ 4
pt0opt = 1 2 m
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& integrat

Asselin solver

dtbig,dtsml real ∗ 4

gwmopt = 1 dtsml

s CFL

gwmopt integer ∗ 4

0:
1:

impopt integer ∗ 4
impopt = 0

impopt = 1

0:
1:
2:
3:

weicoe real ∗ 4

∆τ τ 1−weicoe τ + ∆τ

weicoe

filcoe real ∗ 4
Asselin

& advction

solver

ad4opt integer ∗ 4

0: 2
1: 4
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& smoother

solver

smtopt integer ∗ 4

0:
1: 2
2: 4

smndch real ∗ 4

2 : smndch/dtb≤ 1/8
4 : smndch/dtb� 1/1000

smndcv real ∗ 4

2 : smndcv/dtb≤ 1/8
4 : smndcv/dtb� 1/1000

& mapfcter

solver

mfcopt integer ∗ 4

0:
1:

& coriolis

solver

coropt integer ∗ 4

0:
1:
2:
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& earthcrv

solver

coropt integer ∗ 4

0:
1:

& buoyancy

solver

buyopt integer ∗ 4

0:
1:

& diabatic

solver

diaopt integer ∗ 4

0:
1:

& ddamping

solver

divopt integer ∗ 4

0:
1:

divndc real ∗ 4
divndc = 0.05
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& turbulen

solver

tubopt integer ∗ 4

0:
1:
2: 1.5

isoopt integer ∗ 4

1:
2:

prnum real ∗ 4
Pr = ντ /νH tubopt = 2

csnum real ∗ 4
tubopt = 1

& cloudphy

solver

cphopt integer ∗ 4

0:
1:
2:
3: 2

numnc real ∗ 4
cphopt = 2 3 m−3
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& outfomat

solver

dmpfmt integer ∗ 4

1:
2:

dmpcmp integer ∗ 4
dmpcmp = 1

−1.0×1035

1 z∗ ζ

2 dz

3

dmpitv real ∗ 4
s

stime = 0.e0

300.0 s 450.0 s
600.0 s

resitv real ∗ 4
s dmpitv

mxnitv real ∗ 4

s dmpitv,resitv

& project grd

gridata

mpopt_grd integer ∗ 4
5

0:
1:
2:
3:
4:
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nspol_grd integer ∗ 4

1:
-1:

tlat1_grd, real ∗ 4
tlat2_grd ◦

2 tlat2_grd

tlon_grd real ∗ 4
◦

& gridset grd

gridata

xdim_grd, integer ∗ 4
ydim_grd, x, y, z

zdim_grd refsfc = 1

3
refsfc

dx_grd, real ∗ 4
dy_grd x, y mpopt_grd = 0

◦ m

ulat_grd, real ∗ 4
ulon_grd 1 ◦

riu_grd,rju_grd

riu_grd, real ∗ 4
rju_grd ulat_grd,ulon_grd
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& how2intp grd

gridata,

biiopt_grd integer ∗ 4

3
1

0: 1
1: 2

& datacf grd

3 gridata

datype_grd character ∗ 80

80
2

tk: 1 K 1 kg kg−1

pk: 1 K 1 kg kg−1

tp: 1 K 1 %
pp: 1 K 1 %

refsfc integer ∗ 4

rdobj.f

0:
1:

& project rad

radata

mpopt_rad integer ∗ 4
5
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0:
1:
2:
3:
4:

nspol_rad integer ∗ 4

1:
-1:

tlat1_rad, real ∗ 4
tlat2_rad ◦

2 tlat2_rad

tlon_rad real ∗ 4
◦

& gridset rad

radata

xdim_rad, integer ∗ 4
ydim_rad, x, y, z

zdim_rad

dx_rad, real ∗ 4
dy_rad x, y mpopt_rad = 0

◦ m

ulat_rad, real ∗ 4
ulon_rad 1 ◦

riu_rad,rju_rad

riu_rad, real ∗ 4
rju_rad ulat_rad,ulon_rad
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& datacf rad

radata

datype_rad character ∗ 80
80

2
z: dBZe
k: kg kg−1

radcoe,radpwr real ∗ 4
dBZe kg kg−1

solver

kg m−3

& project trn

terrain

mpopt_trn integer ∗ 4
5

0:
1:
2:
3:
4:

nspol_trn integer ∗ 4

1:
-1:

tlat1_trn, real ∗ 4
tlat2_trn ◦

2 tlat2_trn

tlon_trn real ∗ 4
◦
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& gridset trn

terrain

xdim_trn, integer ∗ 4
ydim_trn, x, y

dx_trn, real ∗ 4
dy_trn x, y mpopt_trn = 0

◦ m

ulat_trn, real ∗ 4
ulon_trn 1 ◦

riu_trn,rju_trn

riu_trn, real ∗ 4
rju_trn ulat_trn,ulon_trn

& how2intp trn

terrain,

biiopt_trn integer ∗ 4

0: 1
1: 2

& project lnd

surface

mpopt_lnd integer ∗ 4
5

0:
1:
2:
3:
4:
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nspol_lnd integer ∗ 4

1:
-1:

tlat1_lnd, real ∗ 4
tlat2_lnd ◦

2 tlat2_lnd

tlon_lnd real ∗ 4
◦

& gridset lnd

surface

xdim_lnd, integer ∗ 4
ydim_lnd, x, y

dx_lnd, real ∗ 4
dy_lnd x, y mpopt_lnd = 0

◦ m

ulat_lnd, real ∗ 4
ulon_lnd 1 ◦

riu_lnd,rju_lnd

riu_lnd, real ∗ 4
rju_lnd ulat_lnd,ulon_lnd

& landuse

surface

linopt integer ∗ 4

0:
1:
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categ integer ∗ 4
100

usland(1:100) integer ∗ 4
categ

-1 0 4 5 9

usbeta(1:100) real ∗ 4
usland

usalbe(1:100) real ∗ 4
usland

usz0m(1:100) real ∗ 4
usland m

& project sst

surface

mpopt_sst integer ∗ 4
5

0:
1:
2:
3:
4:

nspol_sst integer ∗ 4

1:
-1:

tlat1_sst, real ∗ 4
tlat2_sst ◦

2 tlat2_sst

tlon_sst real ∗ 4
◦
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& gridset sst

surface

xdim_sst, integer ∗ 4
ydim_sst, x, y

dx_sst, real ∗ 4
dy_sst x, y mpopt_sst = 0

◦ m

ulat_sst, real ∗ 4
ulon_sst 1 ◦

riu_sst,rju_sst

riu_sst, real ∗ 4
rju_sst ulat_sst,ulon_sst

& united

unite

fltype chracter ∗ 80
80 3

dmp: 1
geo: 1

flsize integer ∗ 4
dmpopt = 2

outdmp2d.f outdmp3d.f

flitv real ∗ 4
flitv �= dmpitv

stime, etime

delopt integer ∗ 4

0:
1:
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9.2

9.2.1

CReSS 9.1 9.2

9.1 9.2

exprim

xxxxxx 1200.0 s xxxxxx = 001200

yyyy

solver user.conf

exprim .dmp xxxxxx .txt
exprim .dmp xxxxxx .bin

exprim .resxxxxxx .bin
exprim .res.check.txt

exprim .sounding.txt

exprim .geography .txt
exprim .geography .bin

exprim .rad xxxxxx .bin
exprim .rad.check.txt

radata user.conf

exprim .terrain.damp.bin
exprim .terrain.damp.check.txt

gridata

3
exprim .grd xxxxxx .bin
exprim .grd.check.txt

user.conf

exprim .surface.bin
exprim .surface.check.txt

surface

user.conf

exprim .terrain.bin
exprim .terrain.check.txt

terrain

user.conf

9.1.
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solver user.conf

exprim .dmp xxxxxx .peyyyy .txt
exprim .dmp xxxxxx .peyyyy .bin

exprim .resxxxxxx .peyyyy .bin
exprim .res.check.txt

exprim .sounding.txt

exprim .geography .peyyyy .txt
exprim .geography .peyyyy .bin

exprim .rad xxxxx .peyyyy .bin
exprim .rad.check.txt

radata user.conf

unite

user.conf

exprim .geography .united.bin

exprim .dmp xxxxxx .united.bin

exprim .terrain.damp.pe yyyy .bin
exprim .terrain.damp.check.txt

gridata

3
exprim .grd xxxxxx .pe yyyy .bin

exprim .grd.check.txt

user.conf

exprim .terrain.pe yyyy .bin
exprim .terrain.check.txt

terrain

exprim .surface.pe yyyy .bin
exprim .surface.check.txt

surface

user.conf

user.conf

9.2.

9.2.2

9.1 9.2
.peyyyy

exprim.terrain.peyyyy.bin

exprim.terrain.check.txt



222 9 CReSS

exprim.terrain.damp.peyyyy.bin

exprim.terrain.damp.check.txt

exprim.surface.peyyyy.bin

exprim.surface.check.txt

exprim.grdxxxxxx.peyyyy.bin

exprim.grd.check.txt

exprim.radxxxxxx.peyyyy.bin

exprim.rad.check.txt

exprim.sounding.txt 1

exprim.dmpxxxxxx.peyyyy.txt

exprim.dmpxxxxxx.peyyyy.bin

exprim.geography.peyyyy.txt

exprim.geography.peyyyy.bin

exprim.resxxxxxx.peyyyy.bin

exprim.res.check.txt

exprim.dmpxxxxxx.united.bin 1

exprim.geography.united.bin 1
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9.2.3

1 2 5

8

1 m Pa
2 K K
3 m s−1

4 m s−1

5 kg kg−1 %

9.3.1
user.conf Form

################################################################################

# #

# One dimensional sounding input file, sounding.txt.cats.eye.form #

# #

# This is the cats eye simulation data. #

# #

# Author : SAKAKIBARA Atsushi #

# Date : 1999/07/23 #

# Modification : 1999/07/28 #

# : 1999/11/19 #

# #

# First column: height [m] #

# Second column: tempereture [K] #

# Third column: x components of velocity [m/s] #

# Fourth column: y components of velocity [m/s] #

# Fifth column: water vapor relative humidity [%] #

# #

################################################################################

780.e0 300.200e0 8.0000e0 0.e0 0.e0

720.e0 300.200e0 7.9999e0 0.e0 0.e0

660.e0 300.200e0 7.9993e0 0.e0 0.e0
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600.e0 300.200e0 7.9946e0 0.e0 0.e0

540.e0 300.199e0 7.9449e0 0.e0 0.e0

530.e0 300.199e0 7.9231e0 0.e0 0.e0

:
:

200.e0 299.802e0 -7.9231e0 0.e0 0.e0

190.e0 299.802e0 -7.9449e0 0.e0 0.e0

180.e0 299.801e0 -7.9604e0 0.e0 0.e0

120.e0 299.800e0 -7.9946e0 0.e0 0.e0

60.e0 299.800e0 -7.9993e0 0.e0 0.e0

0.e0 299.800e0 -7.9999e0 0.e0 0.e0

dmpfmt = 1 1

do xxx k=2,nk-2

write(ionum,*,err=errnum) (variable(i,j,k),i=2,nx-2,j=2,ny-2)

xxx continue

dmpfmt = 2 1

do xxx k=2,nk-2

recnum=recnum+1

write(ionum,rec=recnum,err=errnum)

. (variable(i,j,k),i=2,nx-2,j=2,ny-2)

xxx continue

outdmp3d.f outdmp2d.f

nx,ny,nz 1

z∗ ζ dmpcmp = 1

9.3 6.2
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3

ny

ny-1

ny-2

1 2 3

1 2

ny-1

ny-2

ny-3

2

1

3

3

2

1

nx

nx-3

nx-2 nx-1

nx -2 nx-1

 
 

 

 
 

 

nz-1

nz-3

nz-2

nz-1

nz-2

nz

1

1

2

2

3

3

   

(x,y ) = (0.0, 0.0)

x

y

9.3.

z∗ ζ

9.4

dmpcmp = 2 dmpcmp = 1 dmpcmp = 3

9.4.

[m]
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ht(2:nx-2,2:ny-2) m
lat(2:nx-2,2:ny-2) ◦

lon(2:nx-2,2:ny-2) ◦

mf(2:nx-2,2:ny-2,1:1)

fc(2:nx-2,2:ny-2,1:1)

fc(2:nx-2,2:ny-2,2:2)

land(2:nx-2,2:ny-2)

usfc(2:nx-2,2:ny-2) 10 m m s−1

vsfc(2:nx-2,2:ny-2) 10 m m s−1

psfc(2:nx-2,2:ny-2) 1.5 m Pa
ptsfc(2:nx-2,2:ny-2) 1.5 m K
qvsfc(2:nx-2,2:ny-2) 1.5 m kg kg−1

u(2:nx-2,2:ny-2,2:nz-2) m s−1

v(2:nx-2,2:ny-2,2:nz-2) m s−1

w(2:nx-2,2:ny-2,2:nz-2) m s−1

pbr(2:nx-2,2:ny-2,2:nz-2) Pa
pp(2:nx-2,2:ny-2,2:nz-2) Pa
ptbr(2:nx-2,2:ny-2,2:nz-2) K
ptp(2:nx-2,2:ny-2,2:nz-2) K
qvbr(2:nx-2,2:ny-2,2:nz-2) kg kg−1

qv(2:nx-2,2:ny-2,2:nz-2) kg kg−1

qc(2:nx-2,2:ny-2,2:nz-2) kg kg−1

qr(2:nx-2,2:ny-2,2:nz-2) kg kg−1

qi(2:nx-2,2:ny-2,2:nz-2) kg kg−1

qs(2:nx-2,2:ny-2,2:nz-2) kg kg−1

qg(2:nx-2,2:ny-2,2:nz-2) kg kg−1

nci(2:nx-2,2:ny-2,2:nz-2) m−3

ncs(2:nx-2,2:ny-2,2:nz-2) m−3

ncg(2:nx-2,2:ny-2,2:nz-2) m−3

prr(2:nx-2,2:ny-2,1:1) m s−1

prr(2:nx-2,2:ny-2,2:2) m
prs(2:nx-2,2:ny-2,1:1) m s−1

prs(2:nx-2,2:ny-2,2:2) m
prg(2:nx-2,2:ny-2,1:1) m s−1

prg(2:nx-2,2:ny-2,2:2) m
zph(2:nx-2,2:ny-2,2:nz-2) m
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9.3 CReSS

9.3.1 solver

solver

•

•

•

CReSS

% ls

cress1.4m.tar.Z

% uncompress -c cress1.4m.tar.Z | tar xvf -

messages

:

% ls

CReSS1.4m cress1.4m.tar.Z

%

CReSS CReSS1.4m

% cd CReSS1.4m

% ls

Doc Src compile.conf

Form Tmp compile.csh

%

Doc Readme

Form

Src

Tmp

compile.conf

compile.csh
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Form

CReSS1.4m test

test.

% cp Form/user.conf.cats.eye.form user.conf

% cp Form/sounding.txt.cats.eye.form test.sounding.txt

% ls

Doc Src compile.conf test.sounding.txt

Form Tmp compile.csh user.conf

%

user.conf compile.csh

user.conf wlngth

4→ 1 Fortran f90 mpif90

compile.conf

% compile.csh solver user.conf

cd Src; messages

:

%

solver.exe solver.exe Src

% ls

Doc Tmp solver.exe

Form compile.conf test.sounding.txt

Src compile.csh user.conf

%

MPI
user.conf log.solver

solver.exe

% solver.exe < user.conf >& log.solver &

%

4 4
log.solver “This program stopped normally.”
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% ls

Doc test.dmp000120.pe0002.bin

Form test.dmp000120.pe0003.bin

Src test.dmp000160.pe0000.bin

Tmp test.dmp000160.pe0001.bin

compile.conf test.dmp000160.pe0002.bin

compile.csh test.dmp000160.pe0003.bin

log.solver test.dmp000200.pe0000.bin

solver.exe test.dmp000200.pe0001.bin

test.dmp000000.pe0000.bin test.dmp000200.pe0002.bin

test.dmp000000.pe0001.bin test.dmp000200.pe0003.bin

test.dmp000000.pe0002.bin test.dmp000240.pe0000.bin

test.dmp000000.pe0003.bin test.dmp000240.pe0001.bin

test.dmp000040.pe0000.bin test.dmp000240.pe0002.bin

test.dmp000040.pe0001.bin test.dmp000240.pe0003.bin

test.dmp000040.pe0002.bin test.geography.bin

test.dmp000040.pe0003.bin test.res000240.check.txt

test.dmp000080.pe0000.bin test.res000240.pe0000.bin

test.dmp000080.pe0001.bin test.res000240.pe0000.bin

test.dmp000080.pe0002.bin user.res000240.pe0001.bin

test.dmp000080.pe0003.bin test.res000240.pe0002.bin

test.dmp000120.pe0000.bin test.sounding.txt

test.dmp000120.pe0001.bin user.conf

%

9.3.2 unite

1
unite

% compile.csh unite user.conf

cd Src; messages

:

%

unite.exe solver.exe

% unite.exe < user.conf >& log.unite &

%

240s test.dmp000240.united.bin

9.2.3 solver.exe

log.solver
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9.5 9.6 10.6 10.7

9.5. 240s (u − w) 9.6. 240s K

9.3.3 terrain

terrain

terrain

terrain

CReSS Src

rdhigh.f #

* ##### You will have to modify the following lines. #####

siz=nid*njd*wlngth

write(trnfl(1:16),’(a16)’) ’data.terrain.bin’

open(iotrn,iostat=stat,file=trnfl(1:16),status=’old’,

. access=’direct’,form=’unformatted’,recl=siz)

* ####################

* ##### You will have to modify the following lines. #####

read(iotrn,rec=1,err=100) ((htdat(id,jd),id=1,nid),jd=1,njd)

* ####################
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m

9.1

% compile.csh terrain user.conf

cd Src; messages

:

%

terrain.exe terrain.exe Src

terrain.exe terrain.exe

% terrain.exe < user.conf >& log.terrain &

%

test

terrain.exe 1 1
solver.exe

9.3.4 surface

surface

surface

surface

surface

Src rdland.f rdsst.f #

2

* ##### You will have to modify the following lines. #####

siz=nid*njd*wlngth

write(lndfl(1:13),’(a13)’) ’data.land.bin’

open(iolnd,iostat=stat,file=lndfl(1:13),status=’old’,

. access=’direct’,form=’unformatted’,recl=siz)

* ####################
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* ##### You will have to modify the following lines. #####

read(iolnd,rec=1,err=100) ((landat(id,jd),id=1,nid),jd=1,njd)

* ####################

* ##### You will have to modify the following lines. #####

siz=nid*njd*wlngth

write(sstfl(1:12),’(a12)’) ’data.sst.bin’

open(iosst,iostat=stat,file=sstfl(1:12),status=’old’,

. access=’direct’,form=’unformatted’,recl=siz)

* ####################

* ##### You will have to modify the following lines. #####

read(iosst,rec=1,err=100) ((sstdat(id,jd),id=1,nid),jd=1,njd)

* ####################

rdland.f #

K

terrain.exe

% compile.csh surface user.conf

cd Src; messages

:

%

surface.exe

surface.exe surface.exe

% surface.exe < user.conf >& log.surface &

%
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test

surface.exe 1

9.3.5 gridata

3 gridata

3 3

Src rdobj.f rdobj.f #

yyyymmddhhmm UTC

* ##### You will have to modify the following lines. #####

write(objfl(1:24),’(a8,a12,a4)’) ’data.obj’,cdate(1:12),’.bin’

open(iobj,iostat=stat,file=objfl(1:24),status=’old’,

. access=’sequential’,form=’unformatted’)

* ####################

* ##### You will have to modify the following lines. #####

read(iobj,end=100,err=100) zdat

read(iobj,end=100,err=100) udat

read(iobj,end=100,err=100) vdat

read(iobj,end=100,err=100) pdat

:

* ####################

zdat m
udat m s−1

vdat m s−1

pdat Pa
ptdat K
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wdat m s−1

qvdat kg kg−1 or %
qcdat kg kg−1

qrdat kg kg−1

qidat kg kg−1

qsdat kg kg−1

qgdat kg kg−1

refsfc = 1 kd = 1

refsfc

zdat

refsfc = 1 kd = 1

kd = 1

p

% compile.csh gridata user.conf

cd Src; messages

:

%

gridata.exe

gridata.exe gridata.exe

% gridata.exe < user.conf >& log.gridata &

%

test

3
gridata.exe 1



9.3 CReSS 235

9.3.6 radata

radata

3
Src

rdradar.f rdradar.f #

yyyymmddhhmmss

UTC gridata ss 2

* ##### You will have to modify the following lines. #####

write(objfl(1:28),’(a10,a12,i2.2,a4)’)

. ’data.radar’,cdate(1:12),csec,’.bin’

open(iobj,iostat=stat,file=objfl(1:28),status=’old’,

. access=’sequential’,form=’unformatted’)

* ####################

* ##### You will have to modify the following lines. #####

read(iobj,end=100,err=100) zdat

if(radvar(1:1).eq.’o’) then

read(iobj,end=100,err=100) udat

end if

if(radvar(2:2).eq.’o’) then

:

:

* ####################

zdat m
udat m s−1

vdat m s−1

wdat m s−1

qpdat dBZe or kg kg−1
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undefined point −1.0 × 1034

% compile.csh radata user.conf

cd Src; messages

:

%

radata.exe

radata.exe radata.exe

% radata.exe < user.conf >& log.radata &

%

test

radata.exe

1


